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I. PROBLEM 692 FROM THE PENTAGON, FALL 2011 & PROBLEM 12360 FROM THE AMERICAN
MATHEMATICAL MONTHLY, DECEMBER 2022.
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Solution without Stirling’ approximation.
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Il. PROBLEM 5495 FROM SCHOOL SCIENCE AND MATHEMATICS JOURNAL, APRIL 2018
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Solution without Stirling’ approximation.
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From (2) and above we obtain that
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lll. GENERALIZATION FOR AMM DECEMBER 2022 AND SSMJ APRIL 2018

Let (a,),., (b,)..; be positive real sequences such that b, =a, - /a,!-3/a,!-...-%/a,! and
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From (1) and above we obtain that
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IV. GENERALIZATION OF PROBLEM 5710 FROM SCHOOL SCIENCE AND MATHEMATICS
JOURNAL (SSMJ), DECEMBER 2022
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(7
Compute lim [E -a, )’{/E .

Solution. We have:
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From (1) and Cesaro-Stolz theorem we get:
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By (2) and (3) we obtain that:
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Remark. For b = 7 we obtain the problem 5710 from SSM..
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